7 WMaths Knowledae Oraaviser Topic 15: Ratio 1

What must T be able to do? Key vocabulary

[ Uuderstand the relationship between ratios and fractions Ratio Numbers, separated by
Sparx M2.67 colons, that show how

0 Write equivalent ratios, and find the wmissing term in a pair of equivalent ratios mawny of ove thing there
Sparx M35 are compared +o

U Express ratios nvolving rational vambers in +heir simplest form another. e.g. hc?‘ ratio

[l Bxpress ratios i the for 1m and wi of dogys to cats is 44,
Sparx M543 thew there are four

0 Be able to use the unitary method : ﬂf’@s for every one ;ﬁf‘

U Twterpreta: bavda: b: c, where a, b and c are whole numbers Wnitary | The aartary W‘@_ﬂ/‘? 5

L . . a technigue which is
[ Compare two or wore duavtities by using rafio .
o L , ) used for solving a
0 Divide a quantity v a given ratio

problem by finding the

Sparx M525 value of a sivgle nvit.

0 Find the whole/ one part whew a whole is divided into parts in a givew ratio Boet

Compare the price of
Sparx M301 i P

value +he same amount of an

U Solve word problems involving ratio item. The item that is
O Work out Wl/“ol/] |+6W\ IS IOCS‘l‘ \/ﬂlf/l@ 'FOV' VV]OV\@\{ CV\GQP@V -For -H/]@ same
Sparx Med1 quantity is better value
for money.

| EXpressing as a rotio the order wmattersl |1 Sharing v a ratio
i e A7 h A ¥ i
§ Om N The ratio of circles to squares is 37 i e.9. Marcus ond Wayne share £4500 i the ratio 4 : 5 i
L H @ O The ratio of sauares o circles is 7:3 ¥
N Lol MNEEEE warcas [ 111 4+5=0parts
The fraction which are squares is s 5 Wane i total

Equivalent ratios £4500 split into 9 parts is

| Ratios can be simplified by dividing by a common factor FASDD + G = £500  Each part is worth £500

€.9). 25:10:15 P So WMarcus aets £500 x 4 = £2000
+6< V5 +5
5:2:3

Avd  Wayne gets £500 x 5 = £2500

i They can also be simplified +o 1 or v by dividing by an
i appropriate value

e.0). 46 : ﬁﬁ; Tg@ only [ﬁ\m@ we allow e.9. Kate and Chloe both have voung children and have bonght
i =5 =5 adecimal maratiois i+ 4 aepe duavtity of nappies v the ratio 2 1 7
i 1:3.6 /WMGM it is the “w” L ?

Best value using a unitary method

Kate has bought 210 nappies.

L1 How mauy has Chloe bougnt?
For these duestions, scale the dquantity down to 1 (also !

kvnown as the uiitary method) +hen compare. 4T This Hime 3 parts is worth 210

Brand A Brond B nappies
; 1 Kate |
: 4009 7509 b i
Che /L [ [ [ [ | []
Brond A £2.56 £510 Broavd B :
i £2.56+ 400 This s cost per LUENN £540 750 11 Spoue part is worth 210 = 3 = 70 nappies
| =£0.0064 = £0.0062 ;

£0.0004 is simaller +han £0.0069

i Chloe has 7 parts so has a total of 70 x 7 = 490 vappies
so Brand A is better value !



